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Name: __________________________________



1
How many real solutions exist for the system of equations below?

[image: image1.png]



	1)
	1

	2)
	2

	3)
	3

	4)
	0



2
Which point is in Quadrant III and is a solution to the system below?

[image: image2.png]



	1)
	(4, -8)

	2)
	[image: image3.png]




	3)
	[image: image4.png](—4,—-16)





	4)
	(-3,-33)



3
The graphs of the equations [image: image5.png]Fadx-1




 and [image: image6.png]


 are drawn on the same set of axes.  One solution of this system is

	1)
	[image: image7.png]




	2)
	[image: image8.png]




	3)
	[image: image9.png]




	4)
	[image: image10.png]






4
What is the solution set of the following system of equations? 


[image: image11.png]3x+6

(x+d)?-10





	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]




	4)
	[image: image15.png]






5
What is the solution to the system of equations [image: image16.png]


 and [image: image17.png]


 where [image: image18.png]a(x)



 is defined by the function below?

[image: image19.png]y=9()





	1)
	[image: image20.png]{(0,-2)}





	2)
	[image: image21.png]{(0,-2),(1,6)}





	3)
	[image: image22.png]{(1,6)}





	4)
	[image: image23.png]






6
The graph of a quadratic function is shown below.

[image: image24.png]> X




When the graph of [image: image25.png]X+y



 is drawn on the same axes, one solution to this system is

	1)
	[image: image26.png]




	2)
	[image: image27.png]




	3)
	[image: image28.png]




	4)
	[image: image29.png]






7
The graphs of [image: image30.png]


 and [image: image31.png]


 intersect at approximately

	1)
	[image: image32.png](0.38,-2.85)



, only

	2)
	[image: image33.png](2.62,3.85)



, only

	3)
	[image: image34.png](0.38,-2.85)



 and [image: image35.png](2.62,3.85)





	4)
	[image: image36.png](0.38,-2.85)



 and [image: image37.png](3.85,2.62)







8
Algebraically determine the values of x that satisfy the system of equations below:

[image: image38.png]2 +8x-5






9
Algebraically determine the values of x that satisfy the system of equations below.

[image: image39.png]-+ 1

—oxd 4 3x a1






10
Algebraically determine the solution set for the system of equations below.

[image: image40.png]250 - Tx+ 4

11-21





11
Consider the system shown below.

[image: image41.png](+ 3% +y°

3




The two solutions of the system can be described as

	1)
	both imaginary

	2)
	both irrational

	3)
	both rational

	4)
	one rational and one irrational



12
Given [image: image42.png]


 and [image: image43.png]


, the point of intersection in Quadrant II is

	1)
	[image: image44.png]




	2)
	[image: image45.png]




	3)
	[image: image46.png]




	4)
	[image: image47.png]






13
What are the solution(s) to the system of equations shown below?

[image: image48.png]oyt





	1)
	[image: image49.png]


 and [image: image50.png]




	2)
	[image: image51.png]




	3)
	[image: image52.png]


 and [image: image53.png]




	4)
	[image: image54.png]


, only



14
Solve the system of equations algebraically:

[image: image55.png]oyt

y+5=2x





15
Solve the following system of equations algebraically.  [image: image56.png]




16
Algebraically solve the system:

[image: image57.png](x- 2"+ (y-3)" =20
2x+7

y





17
Solve the system of equations shown below algebraically:

[image: image58.png](=47 + -1 =9






18
Solve the system of equations shown below algebraically.

[image: image59.png](x=3)+(+2)* = 16
0

2+ 2y





19
Algebraically solve the following system of equations. 



[image: image60.png](x-2+ (=37 =16






1
ANS:
4

[image: image61.png]2+ 8x=x-32

3t + Tx+32=10



  [image: image62.png]b -dac
7 - 4(2)(32) < 0




REF:
012310aii

2
ANS:
2

[image: image63.png]-M=x-12
2 -x-12=0
(k- x+3)=10
-3




  [image: image64.png]



REF:
062404aii

3
ANS:
2

[image: image65.png]A rdx-1-z-3

2a3re2=0
(x+ D+ 1)=10

x=-2-




  [image: image66.png]



REF:
061801aii

4
ANS:
3

[image: image67.png](x+4)7 - 10=3x+6

o+ 84 16— 10= 37+ 6

2asx=0

*x+5)=0




  [image: image68.png]=3(=5)+6
30+ 6





REF:
061903aii

5
ANS:
4

[image: image69.png]


  [image: image70.png](x-2)"=3x-2

5 -dx+4=3x-2
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  [image: image71.png]



REF:
011705aii

6
ANS:
4

[image: image72.png]


  [image: image73.png]



REF:
082305aii

7
ANS:
3

[image: image74.png]g





REF:
011810ai

8
ANS:


[image: image75.png]



REF:
082326aii

9
ANS:


[image: image76.png]


  [image: image77.png]“2x+1=-2x" +3x+ 1
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x=0,




REF:
fall1507aii

10
ANS:


[image: image78.png]220 - Tx+d = 11-2x
2= 5x-7=0
(x- D+ 1)=10




  [image: image79.png]


  [image: image80.png](o)




REF:
082232aii

11
ANS:
1

[image: image81.png](x+ 307 + (2x-4)
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  [image: image82.png]b -dac
100-4(5)(17) <0




REF:
081719aii

12
ANS:
4

[image: image83.png]


  [image: image84.png]


  [image: image85.png]“6.67 T





REF:
012407aii

13
ANS:
3

[image: image86.png]


  [image: image87.png]



REF:
081916aii

14
ANS:


[image: image88.png](x5t =25
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  [image: image89.png]


  [image: image90.png]y+5=2(4)




  [image: image91.png]



REF:
062236aii

15
ANS:


[image: image92.png]x4+ (x-28)" =400
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  [image: image93.png]12-28=-16




  [image: image94.png]16-28=-12





REF:
081831aii

16
ANS:


[image: image95.png]x-2+(2x+7-3) =20
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REF:
062335aii

17
ANS:
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  [image: image101.png]



REF:
082436aii

18
ANS:


[image: image102.png]
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REF:
061633aii

19
ANS:
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REF:
012035aii

